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Show the diagonals of the parallelogram bisect each other.

1. Prove that the quadrilateral PQRS with the coordinates P(0, 2), Q(4,
8), R(7, 6) and S(3, 0) is a parallelogram.
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2. Prove that the quadrilateral LMNO with the coordinates
L(-2,3), M(4,3), N(2,-2) and O(-4,-2) is a parallelogram.
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Show the diagonals of the rectangle are congruent

3. Prove a quadrilateral GHIJ with vertices G(0,5), H(6,9), 1(8,6) and
J(2,2) is arectangle.
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4. The vertices of quadrilateral COAT are C(0,0), 0(5,0), A(5,2) and
T(0,2). Prove that COAT is a rectangle.
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Show the diagonals of the rhombus are perpendicular.

5. Prove that a quadrilateral ABCD with the vertices A(-2,3), B(2,6),

C(7,6) and D(3,3) is a rhombus.
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6. Prove that the quadrilateral DAVE with the vertices D(2,1), A(6,-2),

V(10,1) and E(6,4) is arhombus.
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Show the dlagonals of a square are both congruent and perpendicular.

7. Prove that the quadrilateral ABCD with vertices A(0,0), B(4,3),
C(7,-1) and D(3,-4) is a square.
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8. Prove that the quadrilateral ABCD with verticeS A(2,2), B(5,-2),
C(9,1) and D(6,5) is a square.
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